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  1  8       9  . 

 

1.   -  ,   -    

 . 

 

2.      . 

 

3.  ,         . 

 

4.         . 

 

5.           . 

 

6.       . 

 

7. IS-LM      . 

 

8. LM      . 
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9.             (  ) 8 

 (1) GDP = _________ 

  (a)        

  (b)           

  (c)     

  (d)    

 (2)    _________.  

  (a)  -   (b) -   

  (c) -   (d) -   

 (3)            ? 

  (a)   (b)   
  (c)  (d)  

 (4)   _________    . 
  (a)   (b)   

  (c)    (d)   

 (5)          ? 
  (a)   (b)   
  (c)  (d)   

 (6)        ?  

  (a)   (b)  

  (c)   (d)   

 (7) MPC + MPS = _________ 

  (a) 1   (b) > 1 

  (c) = 1  (d) < 1 

 (8) IS-LM         ? 

  (a) - (b) - 

  (c)  -  (d) -  

_____________  
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 Answers any three of questions from 1 to 8 are to be written and question 9 is mandatory. 

1. Explain various concepts of national income and with the help of diagram, explain two 
sector circular flow of national income. 

 

2. Explain the concept of full employment is the equilibrium of the economy. 

 

3. In the context of relationship between income and consumption expenditure, explain 
the relative income hypothesis. 

 

4. Examine the Keynesian theory of income and employment in two sectors. 

 

5. Explain the concept of marginal efficiency of capital and discuss the factors affecting it. 

 

6. Explain the concepts of autonomous investment and induced investment. 

 

7. Derive the IS-LM curves and explain the general equilibrium of the economy. 

 

8. Discuss the effects of monetary policy on the LM line. 
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9. Choose the correct answer for each of the following questions and write it in your 
answer book : (any four) 8 

 (1) GDP = _________ 

  (a) The value of goods and services produced in a country in a year. 

  (b) Value of goods and services produced in a year in and outside of the country. 

  (c) Total value of goods produced. 

  (d) None of the above 

 (2) Savings functions means relationship between _________. 

  (a) Consumption expenditure income 

  (b) Investment rate of interest 

  (c) Savings-Income 

  (d) Investment-Income 

 (3) Who has suggested that wages and price are variable ? 

  (a) Keynes (b) Distinguished Economists 

  (c) Friedman (d) Buchanan 

 (4) Investment function depends on _________. 

  (a) Income (b) Rate of interest 

  (c) Income and interest (d) All of these 

 (5) Who introduced the idea that money is neutral ? 

  (a) Keynes (b) Classical economists 

  (c) Malthus (d) Not one  

 (6) Who introduced the relation income concept ? 

  (a) Keynes (b) Malthus 

  (c) Friedman (d) James Dusenbury 

 (7) MPC + MPS = _________ 

  (a) 1  (b) >1 

  (c) =1  (d) <1 

 (8) IS-LM lines show the relationship between which two zodiac signs ? 

  (a) Income-Expenses 

  (b) Income-Savings 

  (c) National Income-Interest Rate 

  (d) Income-Capital Investment   

_____________    
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  1  8      9  . 
 

1.      . 

 

2.      ?        

. 

 

3. IS-LM       -   . 

 

4.          . 

 

5.    ?         . 

 

6. IS-      . 

 

7.             . 

 

8. ,         . 
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9.      (  ) 8 

 (1)       ________   . 
  (a) 1929 (b) 1933 

  (c) 1936 (d) 1939 

 (2) IS         ? 

  (a)  =  (b)   =    

  (c)       (d)   

 (3)   MPC ________ . 

  (a)  (b)  

  (c)  (d)  

 (4)  IS = LM, ________    . 

  (a)  (b)   

  (c)   (d)  

 (5) “  ”  ________  . 

  (a)  (b) - 

  (c)  (d)  

 (6)      ________ . 

  (a)    (b)    

  (c)    (d)   

 (7)   c = a + by, b    . 
  (a) APS (b) APC 

  (c) MPS (d) MPC 

 (8)   ________    . 

  (a)  (b)  

  (c)    (d)   

__________  
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 Answers any three of questions from 1 to 8 are to be written. And questions 9 is mandatory. 

1. Explain the psychological law of consumption of Keynes. 

 

2. Explain the concept of marginal efficiency of capital and discuss the effective factors of 
marginal efficiency of capital. 

 

3. Discuss Hicks-Hanson’s theory of interest and income determination with the help of 
IS-LM curves. 

 

4. As a policy towards of economic stability, discuss India’s fiscal and monetary policy. 

 

5. What is supply ? Explain the law of supply and its exceptions. 

 

6. Explain the effects of fiscal policy changes on the IS-line. 

 

7. Explained the concept of the natural rate of unemployment given by Milton Friedman. 
Discuss the Philips line he cites. 

 

8. Discuss policies to reduce unemployment, poverty and income inequality. 
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9. Write correct answer : (any four) 8 

 (1) Keynesian theory of income and employment published in the year ________. 

  (a) 1929 (b) 1933 

  (c) 1936 (d) 1939 

 (2) What is indicated by each point of IS curve ? 

  (a) Investment = Savings 

  (b) Demand for money = Supply of money 

  (c) Equilibrium rate of interest at given national income 

  (d) None of the above   

 (3) In Keynesian model MPC is ________.  

  (a) One (b) Zero 

  (c) Constant (d) Negative 

 (4) Where IS = LM, ________ stability established. 

  (a) Internal  (b) Factor market 

  (c) Real market (d) External 

 (5) “Wage-Cut Theory” is ________ theory. 

  (a) Classical (b) Neo-classical 

  (c) Modern (d) Universal 

 (6) Keynesian theory of income and employment is ________. 

  (a) Supply sided theory (b) Demand sided theory 

  (c) Rational expectation theory (d) Classical theory 

 (7) In consumption function c = a + by, b stands for  

  (a) APS (b) APC 

  (c) MPS (d) MPC 

 (8) Investment function depends on ________. 

  (a) Income (b) Rate of interest 

  (c) Income and interest (d) All of these 

__________ 


